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Directions (Q.11-13): Mark the correct synonyms of the given wirds;
(1. Candouor: .

A) frankness B) secretive () restriction 13} kindness
12, Desultory: -

A) systematic B) casunl C) Insting [3) keen
13, Frenetic:

A) kind 0) compassionate  €) hyperactive 1) el
Divectionn (Q.14-16); Mark the correet antonyms of the given words:
14, ' Emollient:

A) palliative B) slippery ) soothing 1) beeluting
15. Fecund:

A) barren B) fruitful C) fertile 1) produetive
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Impede!

A) obstruct B) facilitale ) hamper ) shine
Directions (.17-20): Mark the corvect prepositions to be filled in the gaps:

Sureshis & collision course with Ramesh.

A) over H) for ) on 13} it

The doctors think she will pull ;

A)oul H) over ) from 13 through

Put - the lin

A} oul H) in C)of ' D) for

I must see  lunch,

A)of v B} sbout ) within 1) with

21.

e
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The name of the Indian Mrime Minister who made a strong case for celebrating an
Intemnational YOGA DAY in his speech delivered in Hindi in the UN s :

A) Narendra Modi B} Minmohan Singh

C) Atal Biharl Vajpayee 1) Rajiv Gandhi

The 1 7™ Asian games was held in:

A) Tokyo B) Incheon ) New Delhi 1) Guangzho
Where is the headquarter for Northern Command of Indian Army located?

A) Shimila B} Chandigarh ) Udhampur 1) Lucknow

June 21 will be observed as:

A) Pence Day as per nnnouncement made by UM

B} Health Day as per announcement made by UN

C) Meditation Day as per announcement mude by LN

[3) Yoga Day as per announcement made by UN

Which, among the following is the second largest component of Nutural Gus after
Medhane?

A) Elhane B) Butnne C) Propane D) Ethylens
Which, among the following couniries, was the first couniry to impose carbon tax?
A) Russia B) New Zealand C) Sweden D) USA

Tang Prize is given in the feld of:

A) Literature B) Sports

C) Sustainable Development 13) Selenee and Technology

Donald Tusk has recently been appointed as:

A)CED of 1CICI B) CEQ of HDFC

C) CEQ of HSRC ) President of European Union

Which one of the following i not one of the five basic customer rights sceording to n
draft lssued by the Reserve Bank of India-?

A) Right te get o loan B) Riglit to Fair Treatment

) Right to Sultabdliny ) Right 1o Privacy

Annusl Deposit limit under Public Provident Fund has been raised [rom

AY Rs. 2 lakh to 3.50 lukh in India B) Rs. | lakh to 1.50 lakh in lndia
) Rs. 3 lakh to 4,00 lakh in Indin ) Rs. 2 lnkh to 2.50 lakh in India
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31, Aecording to Renowables 2014 Global Status Report Tndin ranks :
A) fourth smonge top ten wind power producer countries In the world,
D) sixih among top fen wind power prodicer conntries in the workd,
) fifth among top ten wind power producer countries in the world,
13) seventh wmong top ten wind power produser countries in the world,
12, Who, of the following, will hesd the Expenditure Mansgement Commission of India®
A) Amartyn Sen B) Dipankar Gupta ) Raghuram Raju 1) Bimal Jalan
33, The World Pank has recently et the global poverty line ai:
A)$ 1.25 n day 131 $ 2.50 n day )% 2.0 a day 1) § 3.0 n day
3. The number of Indian companies, that have made it (o the latest Forune Global 500
list of World's higpest finms, is;

A) seven B eight C) six 1) five
35, Name the winner of Stor Sports Pro Kabaddi League (2014),
A) Chennal Supersiars B) Mumbal Tigers
) Jaipur Pink Panthers 1) Delhi Daredevils
36.  The name-of the Largest indigenous warshlp commissioned by the Indian Navy is:
A) INS Delhi B) INS Kaveri
C) INS Durga D) INS Kolkats
37.  The famous Kannddn writer who passed away in August 2014 was ;
A) LR, Ananthamurihy B) 5.L. Bhyrappa
C) P. Lankesh D) R.C, Shurma
38 Who, of the following, is eredited with the creation of Chacha Choudhary-the cartoon
charncter 7
A) Sudhir Tailang H) Pran Kumer Sharma
) Abu ) Shanker
39, India’s first Ethanol-rin bus was launched in 2014 in ;
A) New Delhi ) Kolkata ) Nagpur ) Bhopal
40, Ductylogram is associsted with :
A) teleprinter B) cereals - €) perambulaior . 13) linger print
41,  Tesdla in w unit of magnetie : -
A) ficld B) Nux () industion 13} moment
42.  Ryder Cup is awarded to the players of: .
A} Football 1) Golf " ) Baschall D) Basket Ball
43.  Mount Everest is also known as:
A) Sang-Wo in Tibetan B) Chang-Wei in Tibetan
CY Chomolangmn in Tibeton D) Serene Mountain in Tibetan
44, Which of the following countries is the Largest exporter of Copper in the world?
A) Bruzil 1) Cannela C) UK ) USA
45,  Washington DC is situated on the binks ol
A) River Potomae B) River Washinglon
') River Missouri D) River Mississippi
46.  The temperature increases mpidly afles:
A) exosphere B) ionosphere | ) stratosphere 13} troposphiere
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Which of the rnlll;wlng planets has the maxinom nember of satellites so far?

A) Saturmn ) Earth C) Jupiter 1) Mars

Pampas ave the vast grossy phains of :

A) North America  B) Africa ) Burasio 13} South Amerlea
Sir Thomas Roe visited the court of |

A) Jnhungir - 1) Shahjahm ) Akbar 13] Aurangzeb
Iirective Principles of State Policy mre given in

AY Part 11 of the Constitution i) Part I'V of the Constitution

) Papt V of ihe Constitution ) Pirt V1 of the Constitution

Complete the serles
M, N O LR LV,

A)A BE CF I H
Complete the serbes: '
m-nm-n-—an—n—mMma-

Alanmnan Blammuaonm Claammnn Dlamammn

Replace question mark (7) from given alternatives that has same relationship as firsi
two wiords have @

Horse : Gallop : : Duck @ ?

A) strud B) wadidle ) prowl 1) trot

Find out the odd one:

iy Dreck i) Quary iii} Stem iv) Bow ¥) Mast

A) i) B} ii) C) Iv) D) v)

In o ceraln code lnnguage COMPUTER is' written as RFUVOQNPC. How is
MEDICINE written in that eode?

A) EDIDEIFM By EOJDJEFM C)MFEDUOE | D) MFEIDJOE

I & certain code *3a, 2b, 7o' means * truth is cternal’, *Te, 9n, Bb; 3a’, means ‘enmity
is not eternal® and *9a, 4d, Zb, 8b' means *truth does not perish’. What is code for
‘enmity’ 7 .

A)da B) Te C) % D) Bb

Find the different one from the following 5 allernatives :

DSUWYA i) LINPR iil) KMOQS iv) BDFHJ  v) ACEGI

Al vl B) iv) C)ii) ™mib

Polnting 1o a mon in a photograph, & woman said, ‘His brother’s father is the only son
of my grandfather’, How is the woman related to the man in the photograph?

A) mother B} nuni ) ) sister 13) daughter

I is son of  while Q and R are sisters. T is mother of R. I7'S Is the son of T, which of
the following statements Is cormect?

AYT is brother of B) 8 is cousin of P

') Q and 5 are sisiomn D) S s matemal uncle of P

In o March Past, 7 persons are standing in o row, @ is standing loft to R but right o P
O is standing right to N and lefl to P. Similarly, S is standing right to R and beft 10T,
Find oul who is standing in the middle,

AP : ByYQ R mo
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6l.  Aarl i% older than Sanyn; Muskan is older than Aarti but younger than Kashish;
Kashish is older than Sanya, Sanyn is younger than Muskon, Gargi is eldest, Who s
youngest?

A) Kashish By At ) Sunya 13) Muskan

62, Study the following informution and answer the question: :

(i) In o family of 6 persons, there are people from three generations, Each person has
separate profession and lkes different colour. There dre iwo couples in the family;
(i) Rohan is CA and his wifis neither is n doetor not likes grean colour; {iii} Engineer
likes red nnd his wife Is o teacher; (iv) Mohini is mother-in-low of Sunits and she
likes omnge colour; (v) Vinod is grandfather of Tonmay wnd Tanmay who s
principal likes black colour; (vi) Nanu Is granddaughter of Mohinl nnd she likes blue
colour, Manu's mother likes white calour.

Which colour is liked by CAY

A) green 1) white

) efther white or green 137 cannot be determined

63.  Radha moves townrds Sonth-cast a distance of 7 Kim, then she moves towards West
and travels 14 Kim. From here she moves 7 Km towards North-west and finally moves
1o East & distance of 4 K. What is the distance between starting and final points 7
A)IEKm B) 4 Km Cy5SKm ) 10 Km

64.  On asquare piece of plot 4 persons A, B, C, D are stationed ns shown In the Fig.
@

A and B move one side lengih clockwise nnd then cross over to corner dingonally
opposite; C and 1 move one side length anti-clockwise and cross over the comers
diagonally opposite. The original position of A D B € has now changed Lo :
A) CBDA B) BDAC C) DACH ) ACBD
65.  Study the Fig. wnd answer the question :
Cirele represems college professors;
Trinngle represents surgical specialists; _
Rectangle represents medical spocinlisis. - '

Surgienl specialists who are nlo medical specinlists but not professors, are

represenied by:
A B B )X mz
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IF only the Tirst half of English alphabets is reversed, how many letters will be there
between K and RY

A)G - By o C) 14 - 16

Ohin thie bads of the following armngement, ankwer the gquestion:
FEESHNVEDIEITRDA+{INU@K (IR AHE

If each letter in the shove arrangement is given value equivalent Lo the serial number
In English alphabets, what will be the difference between the sum of the consonants
and sum of e vowels used in the armngement?

Ay 27 By 41 CyR2 D) 109

In n row of 40 girls, when Komal was shifted 1o her left by 4 places her number from
the beft entl of row beeomis 10, What was the number of Swati from the right emd of
row if Swatl was 3 places to the right of Komal's original position.

Ay 24* i) 23™ cyas™ D) 22™

Insert ihe missing number:

B it

A}S B) 12 o) 13 D) 26
P, Q, 1, 8 and T are sitting around # circular table facing centre.  Who Is sitting
immuedinte right of R, if

i) O is'sitting between P and T, T is sitting immedinte right of 8

i) Q is second to the left of R and is second to the right of 7

AP B0 C)R D)T:
On the basis of the following Informations, snswer the question:

i) Candidates nppeared : 10500 :

if) Passed in all 5 subjects ; 5685

iil)  Possed in 3 subjects only = 1498

iv)  Passedin 2 subjects only : 1250

vl Passed in | subject only | 835

vi)  Failed in English only : 78

vii)  Failed in Maths only : 275

vill)  Failed in Physics only : 149

ix)  Failed in Chemistey only : 147

K} Falled in Biology only | 221

How mnny enndidates failed in oll the subjects ? .
A)AB1S By 337 ) 2867 D) 362
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If the sum of number of diis on opposile faces of m dice is nlways 7, Find the correct
Figg: mmong the ollowing :

What is the least number which when divided by 20,25,3540 leaves respectively
14,19,29,34 s a remainder 7

A) 1394 13 1404 C) 1406 1) 1664

Average of two numbers s 6.5 and square rool ol theit produet is 6. What are the
mumbers 7

AlJand S By 9and 4 C) 10 pnd 3 D) 11 and 2
'I']'-umtiu of the ages of Ajay and Vijuy is 3:4, After 5 years, the new miio will  be
4 : 5. The age of Vijay ot present is :

A) 15 years 1) 18 years (1) 20 years 1) 24 years

In an exam, 42% students failed in Hindi and 52% (ailed in English. IT 17% foiled in
both the subjects, the percentage of those who passed in both the subjects, is :

A)40% B) 34% C) 27% D) 23%

Pure ghee costs Rs. 100 per Kg. Afler adulierating i with vegetable oil costing R, 50
per Kg., i shopkeeper sells the mixture at Rs. 96 per Kg., thereby making o profit af
20%. In what ratio does he mix the two?

A)l:2 B)3:2 Cyi: |l [3) none of these
The expenses on rice, fish and oil of a family are in the rtio oF 12 ; 17 @ 3. The prices
of these ariicles are lncreased by 20%, 30% and 50% respectively. The total expenses
in the fumily are increased by:

A) 142 % B7; % €) 56 % D) 284 %

A and B Invest I & business in the ratio 3 ¢ 2. 1F'5% of total profit goes o charity and
A's share is Rs. B550, then total profit is :

A) R, 15760 B) Rs. 15735 C) Rs. 15000 13) Rs. 14350
A and B can do a job in 12 days, B and € can do it in 15 ditys while C and A can do it
in 20 days.

In how many days will they finish it working together? Also, in how many duys can A
alone do i? \

A) 15 nnd 30 days B 10 aned 30 duys

C) 10 and 25 days D) 15 and 25 days

If 2 pipes function simuliancously, the reservoir will be filled in 12 hrs. One pipe fills
the reservoir 10 hes faster than the other, How many hours does the faster pipe take o
fill the reservoir?

A) 25 hrs B) 28 hrs ) 30 lus 12 35 hrs
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A and B stad simulianeously from a certain point to North and South direction on
motor eyeles. The speed of A is 80 Km/lw and that of B is 65 Km/he. What is the
distance between A and B alter 12 minutes !

A)29 Km H) 14.5 Km ) 36.2 Km D)9 Km

A train passes 2 persons walking in the same direction in which tin is moving,
These persons are wilking at the speed of 3 Ko and 5 K respectively il trmin
passes them completely in 10 see. and 11 see, respectively. The speed of the train i |

A) 24 Kmfiw B) 27 Knvhr ) 28 Km/hr 13} 25 Km/hr

A boat runiing downstroam  covers 24 Km in 4 hrs, while for covering the sime
distanee upstream it tnkes 6 hrs, What i the speed of boat in still water?

A) S Knvhr 1) 5.5 Km/hr Cy6 KmMr ) 6.5 Km/Mhr

A vessel Is filled with liquid, 3 parts of which are water and 5 parts syrp, How much
of the mixture must be drown off and replaced with water so that the mixture muy be
half water and half syrup?

A) § B) + ol D) &
A commission agent allows a rebate of 2% 10 an investor while the company pays an

interest of 15% on the investment, What rale of interest does the invesior actually earn
on his investment?

AY17% B) 16 2% ) 17% D) 152 %

The sum on which the compound interest for second year st 10% per annum s
Rs.132,0s:

A) Rs,1000 B) R.1200 €) Rs. 1320 D) none of these
If the diagonal of & square is doubled, (hen (he area of the new square becomes:
A) four fold B} three fold ) 1wo fold D) none of these

The radius of the base of 1 conical vessel Is 10 cm, ifs height is 48 em. The vessel i
fiill of water. The water is poured into oylindrical vessel having base radius 20cm.
The depth of water in new vessel is:

Ajdem B)52cm ) 1.6om ) 6 em

Al what time between 5.30 and 6 will the hands of a clock be at right angles?

A)43 = min, past 3 B) 40 mim, past 5 )43 min.pastS D) A4S min, past 5
Pattern of connections between the computing devices on o computer network is

known as © .
A) WAN 1) Topology C) LAN [3) Internet

Buying and Selling goods over Web are covered in:

A) E-commerce B) M-commerce C) Trading 13) Hyper Market
What is spam e-mail?

A) Unsollcited commercialmon-commercinl e-mail  1B3) A Usenet archive

C} A compuiter virus [¥) An eneryplion al gorithm
When o user is surfing the web using o web browser, (hen most recently accessed web
page can be reloaded using ©

A) Stop Button B) Back Button ) Forwerd Button D) Home Bulton

P-10 Z10-25298-A (i Contd.



" 95,

98,

L

Match the following Keybosrd shortouts with respect to MS-OfTice:

Column =1 Column -11

u) | Control P (i) | boldsun-bolds selected text

b) | Control § (i) | opens n new file

o) | Control N (iii) | saves the eurrent work

d) | Control B (iv} | takes u print of fle content
A)a)-{iv) b)-(i) e)- (i) d)-(iii) 1) a)-(iil) b)(iv) €)= (il) dy(i)
CYa)-(ill) b)) e)- (iv) d)-(i) ) a)-{iv) B)-(ii) <) (i) d)-Ch)
A cookielsna:

A) technique used 1o mnke interngt connection fist
B} small piece of duta sent (fom n user's web browser and stored in & websito
C) small piece of data sent from a website and stored in a user's web hrowser
) malicious code just like virus
If you wani a logo to appear on every slide sl a fixed location in a presehtation
prepared using MS-PowerPoinl, you should include it on the;
A) slide template 1) slide master C) slide document D) alide file
Which of the following will indicate that the motherboard battery has fuiled?
A) Operating System Password lost.
B) Files an hard disk got corrupted.
C) Hard disk has bad sectors,
D) Hardware setting, ineluding current date and time revert 1o default values,
Which of the following Is font effect in MS-Word?
A) Bold B) lalics C) Regular DY) Superseript
What is a web browser?
A) A program that can display a weh page
B} A program used to view himi documents
C) It enables user to nocess the resources of intemet
13) all of the above
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Answer Key- 18.01.2015 (I) (Senior Assistant Accounts)

Ans,

Q.

76
77

73

79
80

82
83

84
85

86

- 87 .

88 .
89

90
91
9

-93

04
95

9
C 97

.99

100

Ans

A

51

52
53

54

55
56

57
58

59
60

6l
62

63

64

65

67

68

69

70

71

72

73

74
75

Ans.

26
27

28
29
30
31

32
33

34
35
36
37

39

40
4]
42

43

44
45

46
47

48

49

50

Ans

10
il

12

13
14
G
Fr
17
18
19
20
21

22
23

24
25




